www.kaiser-kuehne-play.com Tel. +494254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation 2014

10.

Assign location of equipment considering the impact area (free/falling space).
Excavate soil for foundation, according fo drawing. Please note: To achieve maximum
stability and safe installation, a moderate level of soil solubility is required.

Grout foundation with compressed concrefe C20/25, insert foundafion anchorage info
concrete, install it (acc. o drawing) on a level with top edge of foundation (see
detail) and align it with a spirit level..

Remove carousel disc from bearing housing: unscrew countersunk screws

(6 x DIN 7991 M16 x 100-A2) using Allen key (width 10).

After concrefe foundation has set, mount bearing housing to foundation anchorage in
the following order: flange of bearing housing - washer - self-locking nut M16.

Cover foundation before mounting the carousel disc. Mount carousel disc and steering
wheel in reverse order (see point 4. and 5.). With assembly of carousel disc to bearing
housing and steering wheel to carousel disc, please keep parfs clean and fake care of
correct alignment of the interlocking parts.

After proper tightening of the counftersunk screws, use hammer and driff to drive
hexagon plugs into Allen heads of countersunk screws to prevent parts from
unauthorized removal or theft,

Due to forced movement, it is essential to cover the impact area with a shock-
absorbing surface which meets the requirements for a crifical fall height of at least
1000 mm (acc. to EN 1176-5).

Check all screw connections according fo maintenance insfructions after 4-5 weeks
and retighten if necessary.

Please ensure that all special tools (e.g. special Allen key for secured Allen screws
etc.) and all specific documents which are or may be useful for safety management
acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation
instructions, maintenance instructions) are forwarded to the persons responsible.

Installation

Article No. Description Scale Status

0-43420-000 K&K Merry-go-round (2,00) - 02/14 EB page 1/2




www.kaiser-kuehne-play.com Tel. +494254 - 93150

© Kaiser & Kilhne Freizeitgerate D-27324 Eystrup

K & K Installation 2014

0,22

_|play level

0,10

(=)

Ln_

(=)
foundation anchorage with M16 bolts

concrefe

impact area approx. 29 m?

_—

6x screw connection:
safety nut DIN 985-M16 zinc-plated;
washer DIN 125-17, zinc-plated.

top edge of foundation

_J__hjl_,
/
s S //
/ s
N\ SPs
/

e
A foundation anchorage
/ /

/
S s /
s S0

foundation anchorage

_— ~— scale 1:10

/ 0,70

|

« |
| ()

|

\ _ /
- 6,05 _
. Article No. Description Scale Status
Installation  0-43440-000 K&K Merry-go-round (2,00) 1:50 02/14EB page 2/2




